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• Max Marks 100 

• All questions are compulsory. 

• Each question carries 2 marks. 

 

Name: _____________________   Reg No.: ___________________ 

1. Which of the following will complete the series? 

SAB, QCD, PDD, OEF, NFF, __________ 

a. CBT 

b. ABR 

c. BCT 

d. RBB 

 

2. Find the odd one out.  

a. 7 

b. 9 

c. 4 

d. 6 

  

3. How many squares are there in the figure?  

 

a. 9 

b. 12 

c. 13 

d. 14 

  

4. There are 914 students enrolled in primary School. Middle School has 276 

students. How many students are enrolled at Middle School?  

a. 642  

b. 762  

c. 1190  

d. 638 

   

5. Ducks have  

a. Short and broad beaks  

b. Broad and flat beaks  

c. Slender beaks  

d. Pointed beaks. 

   

6. Water droplets that are too heavy to float make  

a. Fog  

b. Clouds 

c. Rain 

d. Smoke 

 

7. If Rizvan sells 479 eggs each day, then how many eggs will he sell in a week?  

a. 486 

b. 3353  

   

   

   



c. 2838  

d. 2833 

 

8. The figures below show the roots of some plants. Which of the following will hold 

the plant most firmly to the soil? 

  

 

 

a. b. c. d. 

 

 

9. Which is the national tree of India? 

a. Mango tree 

b. Neem tree 

c. Banyan tree 

d. Teak 

   

10. Who was the first President of India? 

a. Jawaharlal Nehru 

b. Dr. Rajendra Prasad 

c. Dr. S Radhakrishnan 

d. Lord Mount Batten 

  

11. Where is Gateway of India located? 

a. Mumbai 

b. New Delhi 

c. Hyderabad 

d. Ahmedabad 

   

12. Who invented the telephone? 

a. John Baird 

b. Alexander Graham Bell 

c. Wright brothers 

d. Alexander Fleming 

   

13. What will come in place of “?” 

5 7 11 13 17 ? 

a. 15 

b. 19 

c. 20 

d. 22 

 

 

 

  



14. Which of the following will be the face of a cylinder? 

 

    

a. b. c. d. 

 

 

15. I am a flightless bird. I am native to Africa. I lay the largest egg. 

a. Peacock 

b. Penguin 

c. Eagle 

d. Ostrich 

   

16. Which of the following is not biodegradable?  

a. The food we eat 

b. Plastic bags in which food is carried  

c. The peel of fruits and vegetables  

d. The animal protein we eat 

 

17. Which is the highest waterfall in the world? 

a. Angel falls 

b. Niagara Falls 

c. Jog falls 

d. None of the above 

 

18. Which of the following is not a natural calamity?  

a. Tornado  

b. Earthquake  

c. Flood  

d. Dengue 

  

19. How many Cricket world cups does India have? 

a. One 

b. Two 

c. Three 

d. Four 

   

20. Pia walks a distance of 4 metres towards south. Then she turns to the left and 

walks 3 metres. After this she turns to the right and walks 4 metres. In which 

direction is she facing now?  

a. North-East  

b. South  

c. North  

d. South-West  

  

21. We can recycle water by _________.  

a. Reusing the water from washing clothes to cook  

b. Discharging factory waste into canals and seas  

c. Discharging sewage and waste materials into the ocean  

d. None of these 



 

22. Who is the author of “The Adventures of Tom Sawyer”? 

a. Wilson Rawls 

b. Mark Twain 

c. M. Montgomery 

d. Ann Mazer 

 

23. Subtract 29.375 from the sum of 85.75 and 5.9.  

a. 62.275  

b. 63.275  

c. 64.275  

d. 65.275 

 

24. What is the value of the given expression?  

3 +  3 × 3(4 + 3)  

a. 38  

b. 42 

c. 45 

d. 66 

   

25. The total distance around a figure is called its? 

a. Perimeter 

b. Area 

c. Square 

d. Parallel  

  

26. Which is the Smallest bird? 

a. Sun bird 

b. Humming bird 

c. Mynah 

d. Cuckoo  

 

Fill in the blanks: 

27. Names of the largest and the smallest country in the world in terms of area are 

_______ respectively.  

a. Russia and Vatican City  

b. China and India  

c. United Kingdom and Russia  

d. China and Vatican City 

  

28. The bird that lays its eggs in the nest of a crow is ______________ 

a. Cuckoo  

b. Parrot 

c. Woodpecker  

d. Pigeon. 

 

29. _____ is a good conductor of electricity.  

a. Metal 

b. Rubber 

c. Plastic  

d. All of these 



State whether true or False:  

30. Separation of Sugar from tea can be done by filtration.  

 

31. The finger bones do not have joints.  

 

32. Air is transparent.  

Match the following books with their authors: 

 Name of the book Author 

33.  Chocolate Factory A Milne 

34.  The Cat in The Hat Lewis Carrol 

35.  Chronicles of Narnia Roald Dahl 

36.  Alice in Wonderland C S Lewis 

37.  Winnie the Pooh Dr. Suess 

 

38. Complete the series: A, C, F, J, _______, U 

a. P 

b. N 

c. O 

d. L 

  

39. Which is the heaviest ball? 

a. P 

b. Q 

c. R 

d. S 

  

40.  If ‘White’ is called ‘Blue’, ‘Blue’ is called ‘Red’, ‘Red’ is called ‘Yellow’, ‘Yellow’ is 

called ‘Green’, ‘Green’ is called ‘Black’, ‘Black’ is called ‘Violet’ and ‘Violet’ is 

called ‘Orange’, then what would be the colour of human blood?  

a. Red  

b. Yellow  

c. Green  

d. Violet 

  

41. Renu’s grandmother got seriously ill in afternoon and needs to be taken to 

hospital immediately. In such a situation, which of the following modes should 

she most preferably use in order to communicate to her father who was in his 

office?  

a. E-mail 

b. Letter  



c. Radio broadcast 

d. Phone call 

 

42. The figure has ____ straight lines and ____ curves.  

a. 9, 10  

b. 14, 12  

c. 16, 9 

d. 15, 10 

43. If you are eleventh in a queue of persons starting from 

either end, then how many persons are there in the queue?  

a. 11 

b. 21 

c. 20 

d. 24 

  

Read the following passage and answer the questions that follow: 

The living room does not look good. It looks bad without a carpet. Mariam and Riaz want 

to buy a carpet. They want to buy a carpet for their living room.  

They go to the store. They look at the carpets. There are many colours. There are many 

sizes. Some have patterns. Some are plain.  

Mariam likes a pink and purple carpet. It has dots. It has pink and purple dots. Riaz says 

no! He does not like the colours. He does not like the pattern. He does not like the size. 

The pink and purple carpet is too big.  

Riaz likes a green and red carpet. It has stripes. It has green and red stripes. Mariam 

says no! She does not like the colours. She does not like the pattern. She does not like 

the size. The green and red carpet is too small.  

Mariam and Riaz see a brown carpet. It does not have dots. It does not have stripes. It 

is plain. It is brown and plain. Riaz likes the brown carpet. Mariam likes the brown 

carpet. They both like the colour. They both like the size. They both say yes!  

Mariam and Riaz buy the brown carpet. They put the carpet in the living room. The living 

room looks wonderful with the new carpet.  

44. According to the passage, Mariam and Riaz want to put the new carpet in their  

a. bedroom  

b. dining room  

c. living room  

d. bathroom  

   

45. According to the passage, the pink and purple carpet  

a. has dots  

b. has stripes  

c. is too small  

d. is too plain  

  

46. According to the passage, the green and red carpet  

a. is plain  

b. has dots  

c. is too big  

d. is too small  



   

47. According to the passage, both Mariam and Riaz like the  

a. pink and purple carpet  

b. green and red carpet  

c. brown carpet  

d. blue carpet  

   

48. Mariam and Riaz do not see a  

a. black and blue carpet  

b. pink and purple carpet  

c. brown carpet  

d. green and red carpet 

  

49. According to the passage, Mariam and Riaz see a  

I. dotted carpet  

II. striped carpet  

III. plain carpet  

a. I only  

b. I and II only  

c. II and III only  

d. I, II, and III 

 

50. Based on information in the passage, it can be understood that both Mariam and 

Riaz would like which of the following carpets best?  

a. a grey carpet with no dots or stripes 

b. a pink and yellow carpet with dots  

c. a blue and green carpet with stripes 

d. a black and white carpet with both dots and stripes 


